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General Instructions:
1. This Question Paper has 4 Sections A, B, C and D.

3. Section B has 2 questions carrying 02 marks each.
5. Section D has 2 questions carrying 05 marks each.

2. Section A has 5 MCQs carrying 1 mark each
4. Section C has 2 questions carrying 03 marks each.
6. All Questions are compulsory.

SECTION A

1. If sin 2B = 2 sin B is true when B is equal to
(a) 90°
(b) 60°
(c) 30°
(d) o°

2. 5tan? A—5sec? A+ 1isequal to
(@) 6
(6) -5
(c)1
(d)-4

3. What is the minimum value of cos 6, 0 <0 <90°

(a)-1
(b) O
()1
(d) 1/2

4, If in AABC, £C =90°, then sin (A +B) =
(a)o
(b) 1/2
(c)1/v2
(d)1

5. If sin A —cos A =0, then the value of sin* A + cos* A is

(a) 2
(b) 1
(c)3/4
(d) %

SECTION B
6. If tan a =v3 and tan B =1/v3,0 < a, B < 90°, find the value of cot (a + B). 2
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10.

Solution:
tan a = 4/3 =tan 60° ()
tan B = _,/1':? =tan 30° ...(ii) 1
Solving (i) & (i), a = 60° and p = 30°
~cot (a+p) = cot (60° +30°) =cot90° =0 1
If 8 = 45°, then what is the value of 2 sec?8 + 3 cosec?8? 2
Solution:
2 sec?B + 3 cosec?d = 2 sec? 45° + 3 cosec? 45° 1
=2(v/2)2+3(/2)2=4+6=10 1
SECTION C
Prove that 3
. 3
sinf - 3 2sin’0 _ tan 0
2c¢0s70 —cosB
LHS = sin 63—2sin3 0
2cos” 8 —cos B
sin 6(1 - 2sin” 6) 1
" cos (9(2cos2 0- 1)
sin 6(sin® 0+ cos® 6 - 2sin 0)
= cos ® (2cos* 0 -sin* - cos® 6) 1
_ sin 6(c0526—sinZ 9)
B cos ()(c:osze—sin2 9)
<09 _ tano=Rus.
cos 0
1
If tan (A + B)=v3 and tan (A __B) =1/V3; 0°<A+B<90° A>B, find Aand B. 3
Solution:
tan (A+B) =+3=tan60°
=A+B=60" _.() 1
tan (A—B) = - = tan 30°
=A-B=30° 0
On Adding equation (1) and (ii), we get 1
2A=90° = A=45°
From (i), we get:
45° +B=60"=B=15°
Thus, A=45°, B=15°
1
SECTION D
Prove that tan 0 coth 5
T—cot6 T T—tan0 = 1 + sec O cosec O
LHS = tan 6 + cot
1-cot® l1-tan©
sin 6 cos 6
__cos® . _sin®
_1_9956+]_.s‘1.“q 1
sin® cos®
_ sin ® x sin ©
~ cos (sin 8 - cos 0)
cos 6 xcos O
sin §(cos 0 — sin 0)
_ sin® @
~ cos 6(sin 6 - cos 8)
_ cos® 1

sin 6(sin 6 - cos 0)
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a sin® 6 - cos® 0
cos 6 sin 6(sin 6 - cos 6)
sin” @ + cos” 0
+sin@cos@
cos 6 sin (sin 6 - cos 6)

(sin@ - cose)(

sin? 0+ cos? 6 + sinO cos O
cosBsin®

sin@cosB +1
cos0sin®

cosOsin®  cosO sin@
1 1

B cos0 sin®

e sin6 cos® 1 1

=1 + sec 0 cosec 6 = RHS.
Hence, proved.

11. Find value of
sin 30° + tan 45° - cosec 60°
sec 30° + cos 60° + cot 45°

A 1,,.2 3+2/3-4
= 2 J§ = 2J§
~2—+l+1 ﬁ@zﬁ
V3 2 23

V3+2/3-4  3/3-4 " 4-3J3
T 4+43+2V3  4+343 4-33

_12y3-27-16+12/3 _ 24V3-43

-11 -11

_ 43-2443
1
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